	Vector Example

	Determine the component of F that acts perpendicular to the blue line?



	

	1. Draw the components of F that are perpendicular and parallel to the blue line.

	

	2. Slide one component arrow along the other until the component arrows are connected head-to-tail and a right angled triangle is formed. 

	

	3. Determine the angles in the triangle.  Fy is at 90( to the blue line, therefore, the angle between Fy and F is 30(

	

	4. We are trying to determine the value of Fy.  It is the adjacent side to the known angle, and the hypotenuse is also given, therefore we use the Cosine function to find the value of Fy. 

	
	Cos (() = Adjacent/Hypotenuse

Cos (30() = Fy/F
Cos (30() = Fy/ 100

Fy = Cos (30() * 100 = 86.6
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